Select the correctly combined sentence.

1.  The people hurry to work in the morning.  They eat at fast foods  

      for lunch.  They rush to pick up their children after school.

A.  The people hurry to work in the morning, ate at fast foods for lunch, and rushed to pick up their children after school. 

B.  The people hurried to work in the morning, eating at fast foods for lunch, and rushing to pick up their children after school.
C.  The people hurry to work in the morning, eat at fast foods for lunch, and rushed to pick up their children after school..
D.  The people hurry to work in the morning, eat at fast foods for lunch, and rush to pick up their children after school.

E.  All of the above are correctly combined.

F.  None of the above is correctly combined.

2.  Select the correctly combined sentence.

Children who eat a balanced diet are generally healthy.  Children who get sufficient rest are generally healthy.  Children who enjoy what they are doing are generally healthy.

A.  Eating a balanced diet, getting sufficient rest, and to enjoy what they are doing help children be generally healthy.

B.  Children who eat a balanced diet, get sufficient rest, and enjoy what they are doing are generally healthy.

C.  Children who eat a balanced diet, getting sufficient rest, and    

       enjoying what they are doing are generally healthy.

D.  Eating a balanced diet, getting sufficient rest, and enjoy what they are doing help children be generally healthy.
E.  All of the above are correctly combined.

F.  None of the above is correctly combined

3.  Choose the correct sentence.
A.  There going to the store this afternoon.

B.  Their going to the store this afternoon.

C.  They’re going to the store this afternoon.

D.  None of the above is correct.

4.  Choose the correct sentence.

A.  Its a long way to the store.

B.  It’s a long way to the store.

C.  It’s color was faded.

D.  None of the above is correct.
 5.Choose the correct sentence.

A.  Your a very courteous person.

B.  Your’e a very courteous person.

C.   You’re a very courteous person..

D.   None of the above is correct.

6.  Choose the correct sentence.

A.  He didn’t feel very good.

B.  He didn’t do very good on the test.

C.  We excepted his offer.

D.  None of the above is correct.

7.  Choose the correct sentence.

A.  The people accepted their new jobs well
B.   Everyone accept those students did a good job.

C.  Your going to perform well.

D.  None of the above is correct.

8.  Choose the correct sentence.

A.  You could have wore school colors to show real good spirit.
B.  You could have wore school colors to show really good spirit.

C.  You could have worn school colors to show real good spirit.

D.  None of the above is correct.

9.  Each cave had different markings created by early inhabitants.

Which would be the best way to express this sentence using the active voice:

A.  The early inhabitants created different markings in each cave.

B.  The markings that were created by early inhabitants were 

      different in each cave.

C.  Different markings created by early inhabitants were 

      unique to each cave.

D.  In each cave there were different markings created by the 

     early inhabitants.

Choose the underlined section that contains an error in grammar, usage, punctuation, or capitalization.  Choose “D” if the sentence contains no error.

10.  Many students believe there should be an easy 

                                        A

     road to success but in reality most people need 

                         B

     to work hard to be successful.  No error.
                        C                                   D

11.  John Jones the president of our club, promoted great activities.
                         A        B                                 C
        No error.

             D

12.  Every person in our many schools are subject to the rules of the 

                   A                                                 B                        C

       MVUSD.  No error.
                              D
13.  Every animal in our many zoos get proper care and are enjoyed a lot.

                  A                             B                    C

         No error.

              D

14.  The correct in-text citation for Jason’s quote is

A  “....Volcanoes are generally found where tectonic plates 

       are diverging or converging.”(Arthur Smith, p.34).

B  “....Volcanoes are generally found where tectonic plates 

       are diverging or converging”(Smith, Arthur, p. 34).

C  “....Volcanoes are generally found where tectonic plates 

       are diverging or converging”(Smith 34).

D  “....Volcanoes are generally found where tectonic plates 

      are diverging or converging”(Smith, 34).

15.  Identify each of the following sentences as run-on, fragment, or complete:

   A.  I was near the water I almost fell in.

    B.  My parents and I patiently watched the whales swimming in 

         the ocean.

    C.  After we finally finished the final exam!

     D.  Lincoln worked to free the slaves he wrote the Emancipation 

          Proclamation.
     E.  Because they wanted to eat a very rich dessert.
16.  The correct in-text citation for Jason’s quote is
         A.  A Human beings have been described as

               "symbol-using animals" (Burke 3).

         B.  A Human beings have been described as

               "symbol-using animals." (Burke 3).


 C.  A Human beings have been described as

               "symbol-using animals" (Edmund Burke, p.3).

          D.  A Human beings have been described as

               "symbol-using animals" (Burke, 3).
17.  Put A for active voice and P for passive voice in each of the following sentences:

       A.  The cat has been groomed by a professional.

        B.  They could have been sleeping under the stars.

        C.  The thieves were captured by the police.

        D.  The class was studying about Columbus.

         E.  The people were silenced.
                           A      B                                              C  D

18.  Mike and (they/them) gave the ball to John and (I/me).
19.  Metaphor, Simile, Idiom, Personification, Hyperbole
       A.  She moved like a racer.

        B.  The cook seldom cracked the cookbook when baking.

        C.  He was a powerhouse.
        D.  I have a stack of paintings the size of the Empire State Bldg.

        E.  The flowers smiled a warm greeting.
20.  warm-up:  SPELLING

Put  C if the word is spelled correctly,

Put NC if the word is not spelled correctly.

1.  achievement

2. deceive 

3. relieve

4. inconceivable

5. believe

6. receive   

7.  procede

8.  preceed

9.  exceed

10.  supersede
Read the following selection and answer the writing strategy questions that follow

Michael’s social studies teacher has asked the class to write reports. Below are the first three paragraphs from Michael’s rough draft. It may contain errors. 
Faces of Stone 

1 Easter Island is just a dot in the Pacific Ocean off the coast of Chile. It is a relatively small island. It has a total area of only 63 square miles. It is volcanic. This is probably why it has no trees. The island is shaped like a boomerang, and each of its three corners has an extinct volcano. 

2 Easter Island was relatively unknown until 1722, when Dutch Admiral Roggeveen arrived with the first Europeans ever to set foot on the island. To their surprise, they were greeted by hundreds of mammoth stone statues lining the shores. To the Europeans, the giant legless creatures appeared strange indeed. All were “figures of men with short square bodies and strangely oversized heads, many balancing red stone cylinder-like hats on their heads.” They were very similar to one another, each with a large nose and long ears, but they were not identical. Each face was taller than a human being, and many were as tall as a four-story building. 

3 For an early society to have made these enormous figures with only stone tools was an amazing feat in itself. What was even more baffling was how the people moved the creations, some of which weighed many tons. The discovery of a large stone quarry unlocked clues. It was apparent that this was the site where the statues had been carved before being moved to their final resting places. Some statues appeared to be complete, while others were barely started. When work on these statues was suddenly abandoned, some were in the process of being moved. It was obvious that the statue builders had cut down the island’s trees to make rolling logs and wooden scaffolds, which were then used to carry the huge statues from the quarry to the island’s perimeter. 

21.  Read these sentences 

It is a relatively small island. It has a total area of only 63 square miles.

What is the best way to combine these sentences without changing the meaning?

A It is a relatively small island because it has a total area of only 63 square miles.

B It is a relatively small island with a total area of only 63 square miles.

C It has a total area of only 63 relatively small square miles on the island.

D It is only 63 square miles of total area on the relatively small island

Read these sentences

22.  It is volcanic. This is probably why it has no trees.

What is the best way to combine these sentences without changing the meaning?

A It is probably volcanic because it has no trees.

B It is volcanic and this is probably why it has no trees.

C It is volcanic and has no trees and this is probably why.

D It is volcanic, which is probably why it has no trees.

23.  Read this sentence

To their surprise, they were greeted by hundreds of mammoth stone statues lining the shores.

How should Michael change the underlined words to make the sentence the most dramatic?

A Much to their surprise,

B To their great surprise,

C To their utter amazement,

D Suddenly,

24.  The best way for Michael to improve this report would be to

A make the report shorter and add something funny.

B use fewer facts and details and more personal feelings.

C tell about Admiral Roggeveen’s naval career.

D include an ending that summarizes his main points.

The remainder of the questions will come from the following website, pages 35-38 (questions 54-61)

http://www.cde.ca.gov/ta/tg/sr/documents/cstrtqela8.pdf
answers are at the back of this document.
ANSWERS:
1 D

2 B

3 C

4 B

5 C

6 D

7 A

8 C

9 A

10 B

11 A

12 B

13 B

14 C

15.  A-RUN-ON; B. COMPLETE; C. FRAGMENT; D. RUN-ON; E. FRAGMENT

16. A

17.  A-passive; B.  active;  C. passive  D.  active;  E.  passive
18.  A, D

19.  A.  simile;  B.  idiom;  C.  metaphor;  D.  hyperbole  E.  personification

20.  (1-6 correct; 7 not correct; 8 not correct; 9-10 correct)

